Mahesh Public School

Rational Numbers

Class 8

Worksheet -4

. Using appropnate properties find.

i W N __'1(3)1312
i) —=X=F=—=X= @ =X|—-=]——=X—=+—X-—
3 5 2 5 6 5 7 6 2 14 5
. Wnite the additive inverse of each of the following.
.2 =5 _ "3 19
([)] 3 @ -3 (ixi) = ™ —3 v T
3. Venfy that - (- x)=xfor.
_ 11 - 13
(1) X=713 m *¥=-719
4. Find the multiplicative inverse of the following.
| s - Ay
(i) —13_ (1) ETY (1) 3 (iv) TKT
v) -1 K? ) -1
5. Name the property under multiplication used in each of the following.
., -4 4 . 13_=2 =2 -1
L e i TR M M
. '-mx I
29 19 _
. 6 : -7
6. Muluply 3 by the reciprocal nfﬁ.

; A

9-

10.

Tell what property allows you to compute -;-x(ﬁx %) as [-]3-:::6] X %

8 1
Is rY the multiplicative inverse of _l-ﬁ ? Why or why not?

1
Is 0.3 the multiplicative inverse of 3 3 ?Why or why not?

Write.
(1) The rational number that does not have a reciprocal.
() The rational numbers that are equal to their reciprocals.
(m) The ranonal number that i1s equal to its negative.
Fill in the blanks.
(i) Zerohas ________ reciprocal.
() The numbers and are their own reciprocals
(m) The reciprocal of - 5is i

1
(iv) Reciprocal of T where x#0 is

(v) The product of two rational numbers is always a .
(vi) The reciprocal of a positive rational number is i
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Answers of Worksheet - 4

Question 1:
Using appropriate properties find:
23 531

SN, " ————

@ 33256

2 l 3) 1312
=] == === —s =
S L7 6214

Answer:
(i)

3 531 23 31.9
X+ W oo - ) X = $
14§ 286 358 §6 2

{Using commutativity of rational numbers)

|" 31 2 '] : (Distributivity)
=| == | =4=|+= is '
"J L4 ) 2 | -

L !

f 3) f:::aq-l] | 3] [aJ 5
w| -— |x +—m|-= x| =|4=
s e )T 6)
(_3), 5. [ 3+5=3)_[ 3415)
i ﬁ_,l - 6 N & }

2 .

6
(i)

+

-2 | wn ¢

SLUT7/,62 145 507

2 [ JJ 13 1 2 2 [ 3] 1 2 1 3
145 6 2y commutativity)
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3 1.1

—— — ——

L7 18) 4
f—3xl+l]_1

b

alrd Walbka wus | o

Question 2:

Write the additive inverse of each of the following:

(By distmbutivity)

19

: 5 % 2 0
() 3¢y 2 (i) 3wy v) 6
Answer:

2
(iy 8

2

Additive inverse =
5

i ¢

§
Additive inverse = y
4.9
(iiy =3 5
=
Additive inverse =
2 -2

(Iv) —_9-?
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)
Additive inverse Y

19_-19
(v) 6 6

9

Additive inverse 6
Question 3:

Verify that =(-x) = x for,

| SR
(1) lﬁm} 17
Answer:

11

I—-_
a B

X &
The additive inverse of  13s

)

15,

This equality 13

can be said that 13 lsl,l.,-[-x]-x

T
The additive inverse of

1,5,

This equality 17 17 represents that the additive inverse of 17ig =17 .e.,

=(=x) = x

Question 4:

Find the multiplicative inverse of the following.

-"'—-—

15 35 13

represents that the additive inverse of 13is or it
/ \
111 1

13 13
N e -T= - -+ =“
1T 178 17 17
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-3
) ~Biiy 19 giiiy 3

-5 =3 -2
- 34 -]
vy 8 T 3=t
Answer:
(i) -13

|

mewbﬂWEMMﬁe--ii

3
(i) 19

o

Multiplicative inverse = 13

!
(i) 3
Multiplicative inverse = 5

5§ 3 15

-—!-—-"—

(v) & 7 36
_6

Multiplicative inverse 13

2 2
-] Xz -
(v) 5 5
5
Multiplicative inverse 4

(vi) =1
Multiplicative inverse = -1
Question 5:

Name the property under multiplication used in each of the following:
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13 -2 22 -3

- i — e— c—
gy 117 T 10

«19 29

s Y e = |
(wy 29 19
Answer:

—!:n-:l=l:-r-'—'=—E
iy 3 § §
1 is the multiplicative identity,
(If) Commutativity
(I4) Multiplicative inverse
Question 6:

f 1

Multiply 13 by the reciprocal of |6 ,
Answer:

TV 6 16

6 i
—::I Reciprocal of -—):—x-—:-—
13 \

e/ 15 7

Question 7:

Answer:
Associativity
Question 8:

g il

Is 9 the multiplicative inverse of 8 7 Why or why not?

Answer:

IF it is the multiplicative inverse, then the product should be 1.
However, here, the product is not 1 as

96
9

]

Tell what property allows you to compute *
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Question 9:

3

Is 0.3 the multiplicative inverse of 3 ? Why or why not?
Answer:

L
13
3 w1,
03x d=03x 3 10 3
3!
Here, the product is 1. Hence, 0.3 is the multiplicative inverse of 3.
Question 10:
Write:

(1) The rational number that does not have a reciprocal.

(i) The rational numbers that are equal to their reciprocals.
(iii) The rational number that is equal to its negative.
Answer:

(i) 0 is a rational number but its reciprocal is not defined,

(i) 1 and =1 are the rational numbers that are equal to their reciprocals.

(Il1) 0 Is the rational number that is equal to its negative.

Question 11:

Fill in the blanks,

(i) Zero has reciprocal,

(Il) The numbers and are their own reciprocals

(Iif) The reciprocal of = 5 is
(iv) Reciprocal of ¥, where ¥ #Vjg
(v) The product of two rational numbers is always a
(vi) The reciprocal of a positive rational number is
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Answer:
(i) No
(ii) 1, =1
B!
(y 3
(Iv) x
(v) Rational number
(vi) Positive rational number
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